W rh~mEgasn  RI3IRE BAROML—=>7 (1)

Training 1

(1) 7-(-2)x3 %EE&L, (2) —Z+Zx (-6 £EHHH &,
(3) (—6ab)? + 4ab + (-3a) HFHEHL L, (4) a* -4 - ) ERAHHBY &£,
(5) (Z-2)+v2 #EEHL

(6) AExX Sx+y=4x—-y=3x+9 ZHEEL,

(7) AR 2(x-2)?2=x*-x EFHEE L

Training 2

(1) -3-(-6)+5 #&ilE L, (2) (2-5)= (-3 zatmes,
(3) T2 _3(3x-2) %EHHL X, (4) 4a>+4a—6a HFt5E L,

(5) x=v3+2, y=v3-2 0OL& Roffixfkwk, x?+y2—2xy

3x+y—-2=0

2 +9) =30y + 1) 2T,

(6) sy fifiat {

(7) R x(x—-3)=6-2x %R,

Training 3
(1) 1-(=5)+(-8) %t L, (2) Z+(-B)x(-37 #itHes,
(3)3(6x—1) —4(Bx +2) ZitHE L, (4) (12x%y — 9xy) = 3yy %itEe X,

(5) (VIE—VID)(VZ +V3) %ithiek,
(6) (a=b)?—4(a—>b) ZEHNENRE X,

(7) R 22 -5)=x(x—1) %I,



W rh~pEsasr F3IVFE BRrOLL-=>7 (2)

Training 4

(1) 9% (-2) = (-5) %t k. (2) g+ (-2)?x 64 ZFE Lo
(3)2(6-30)+5Cx—2) ZFHEL,  (4)(6xy)* + (~4uy) +5xy  EFHA L,
(5) x=3-1, y=2 ot&, kofizkwk, x>+y*+2x

(6) VI2+V8++6 %GtHE X,

(7) HERX @x-22=6-3x %[,

Training 5

(1) 3-2%(-5) #%atEek, (2) Ix(=2)+(-D? #%atse k.
(3) x=—y»Bx+y)—2(x+y)(x—2y) %itEE X,

(4) 4a®b x 9ab +3ab? %FMEE L, (5) V2-Z-VI8 %alHe X,

(6) a? —5ab —6b? ZRHENEE X,

(7) AR 3x@x+1)=22+1) %I,

Training 6
(1) 5-12-(-3) %itH L, (2) 2+ G- %athe L,
(3)%(x—4y)—§(2x—9y) ZEIEE X, (4)5xy —18x%y? - 6xy %at®EH¥ X,

(5) (WV3+V2)2-(1++6)* #%itEEX,
(6)x=§,y=—§@k?\ x? +4xy + 6y? ODfE%ERD X,

(7) X x(x+4)=6+5x %EMRET,



W rh~zEgasr FIBF BrOPL—=27 (3)
Training 7

(1) (=) —2x(-7) #a5e XL, (2) 2 (=321 zasie s,

2

(3) 12(22-22) #atse X,
(4) (3a%b? —9ab? + 6ab) =~ 3ab Z%itHEE X,
(5) (2v2+3)(3V2—-4) #%itHEE L, (6) x2—2y*+xy #HEO L X,

(7) HEERX x(6x—1)=18—-x %fi#I,

Training 8

(1) 4-83-(-2)} %atFEE X, (2) G-+ (-2 %itHeL,
(3) (2a—3b)2—(a—3b)(4a—3b) %ZEIEY L,

(4) 15a%b + 6ab? x (—2ab) ZatH ¥ X, (5) (V98 —-+18) ++v8  ZEtHEE X,
(6) x==2,y="0r &, x*—4y? Offizkw X,

(7) /R 5(x—1)=9—-x2 %RT,

Training 9
(1) —4-3x(-2) %iEwk, (2) I+ (-2)x (-9 #atse X,
(3) #_“6” REE X, (4) 2ab? +6a%b x (—9ab) %*EMHEY X,

(5) (V75-V12) +V3 %atEe X,
(6) a?—(b+1)? #EHBIfRE X,

(7) R 4x(x—1)=3(%*-2x+1) %R,



W hh~praasnr F3IRY BROML—=27 (4)
Training 10

(1) 5+ (=7)—(-6) %EELL, (2) 5-2x(-2)? #itHe L,
(3) Rx+3)x-3y) - x—y)(x—y) %*itFHe X,

(4) 12x2y+(—§x)+6y EEMEE X, <5)\/ﬁ—\/125+% A
(6)x=§,y=—%@éz%‘f\ x?2+4y?+4xy OfE%ERD X,

(7) xiIc20TOZRGEA 3x2+ax—4a=0 (alFEE) DD 1 222 THhsL

&, a DfEZKRD X,

Training 11

(1) 4+ (=2)+(-5) #%atEwk, (2) 6—9x(—§)2 REHER X,
(3) 222242y %k, (4) 6a’b + (—3ab) x 2ab % EEH X,
(5) x%2+xy—12y* %KEIRE X,

(6) x=2, y=—> 0% ROROEEKD L, (3x + y)2 — (3x — y)?

(7) HREKX 3x(x—-1) =4(x+1Dx—-2) %R,

Training 12
(1) 8+ (=6)—(-2) %ilEw X, (2) 243+ (=3 #iHe X,
(3) 53x—y)—{3x—4(y—3x)} ZElHEE L,

(4) 6a> —Z(3a—b)(Ba+b) #ilhe L, (5)V48 —V75+V12 #%EtE X,
(6) vt { T amy.

(7) X 20— D@x+3)=x2+5x—4 %fRT,



W rh~zEgasr FIBF BROPL—=>7 (5)

Training 13

(1) =3+ (-2)x5 %L, (2) 3+ (3-3) ZAHHLE L,
(3) 222 %Rk, (4) (4a—6a%b) ~2a #HaEH X,

(5) \/Ex\/T—% ZEHE R X,

(6) a=_§, b=§ DEE. 2ab+a®+b: DOffiEKRD X,

(7) (a+2)(a+b)—a-b Z=HREHHE L,

Training 14
(1) —1—{-5-(-49)} ZHHEL X, (2) I-2x6* %EHE X,
(3) (@a+b)Ba—2b)— Ba—-Db)(a+2b) Z%iHEEX,

(4) 3x%y+ (—zxy) X (—2xy?) #%EHEE X,

(5) (V6—v2)" +V3(4+V27) #%atie X,

(6) xic2WTDFRR 5(a+2x) —3Ra-—x)=a+1 (alZEE) DEIR—-1 D& %,
aDfE% KD X,
(7)) HERX (x-2Dx+3)=5x+6 =%fiEiT,

Training 15

(1) 2-(3- (-1} #%atEE L, (2) J-2x(-2? EEHE L,
(3) (a=b)(5a—4b) — (5a+b)(a—2b) Z%itHEE X,

(4) —2xy+ (~2xy?) xbxy milSie Lk

(5) x=3+vV2 DEx, x2—6x Ofizkd X,

A x_y=5
(6) i ifst {£+y_-7=_1
2 5

(7) HBERX x(x—4)=12-5x %R,

ZRET



W hh~rEsasn B3KE ARORL—Z=7 (6)

Training 16

(1) —4+8+(-2) Zilfek, (2) —2245 (=3 zatgex,
(3) 2222 a5k, (4) 12ab x (—2ab?) + (—6a?b) % atHAE X,

(5) V5(2/3-3)—+45(v/3-1) %Z&tHEE X,
(6) (a*+2a)—(a+2) ZHREIMFEE X,

(7) HERX 3(x+Dx—-2)=2(x%2-2) %M,

Training 17

(1) 3—(-4)x2 %FHEL, (2) (-1)+1 mitme .
(3) —2(Ba+4b—-2)—-3(4—2a—-5b) %iEHE X,

(4) 5x%y x 12xy? + (=2)%xy %*GMEHE X,
<5>@6+%p“@ *EFER X, (6) (a—b)(a+2b)—4b? #RESEE X,

(7) HBERX x2+3x+1=0 %M@,

Training 18

(1) 3-0Q2-D}x(-4) #%HELX,

(2) 12—4+(—§)2 PEFE A X, (3) 3x12y_x—63y hEbE X,

(4) Sab + 12a%b? + (-3ab) Z%alEE X,

(5) x=%,y

—% DE X, x2+6xy+10y2 DOfEZKD X,

y

(6) siwpfast | 2 B

x
§+y——1

(7) HBERX x(x+2)=x+2 %R,



W rh~pEsasn F3IVE BrOLL—-=>7 (7)

Training 19

(1) (=3)2—(-4) #%atELX, (2) I-2+= #itHe L,
(3) a=5.6, b=l20t %, XORDEZKD X, a? +9b% —6ab

(4) VB(NIZ+Z7) %t k.

(5) 9a*> — (3a—2b)(3a+2b) ZFEEIX,

(6) x?—4y? +3xy ZRHNEIRE X,

(7) AR 3(x+2)=x2+4x %R,

Training 20
(1) 9-2x(-3) #it@ex, (2) 2-(-3)-% #mdtEeL,
(3) 4(a—§)+a+36b MR X, (4) (—8x%y) = (=2xy) —x %itEE X,

(5) 2+V3)xV2-+8 %ZitHE L,

(6) (a+b—-2)(a—b+2) ZJEHHE X,

N, 2x+3y=-5 -
(7) s {10 e
Training 21
(1) 8—(-3)x4 #iEwk, (2) —§+%—(—2)2 ZEHEE X,
(3) X papire ), (4) 12a2b + (—6ab) x 3ab? % ElE& k.

(5) (VB +VIB) +VZ AiHGe k.,
(6) xicoWToHENX 3(@-2x)+2Qa+x)=a DENR3IDL X,
ERBaDEZ KD X,

(7) HEKX x24+2x=3(x+4) %R,



W rh~zEgasr FIBF BROPL—=27 (8)

Training 22
(1) ~4—(-2)+8 &EHEE L, (2) =9+ (-3 zatmex.
(3)32) 2% patiie X, (4)12a2b? + (—2ab) + ab % aIEE X,

(5) V32=V12+V6 #%EEE kX,
(6) (3a—b)(3a+5b)—(3a—2b)? %#itHE X,

(7) R x4+ -2)=x2—x+6 #%f#T,

Training 23
(1) 3x4—(-2) #ithk, (2) 2a-2a-2a %FHEL,
(3) Ba+2b)>—(a+4b)(a+8b) Z%itEwE X,

(4) V24 x V18 =3 ZEEw X,

(5) 24+ (=3)- (-9 witmex, (6) Z2—(2x—5) #ZEtHE X,

3

(7) KX (x+5)2-7=0 %MRET,

Training 24

(1) 5—2x(—4) #%tEEX, (2) (—1)2+(—i)+§ EEE X,
(3) —4a?b +8ab x (—6b%) ZFHEE X,

(4) (V50 -V18) +v2 %ZHEtHE X, (5) KX x-2)(x—-3)=2x2 %M,

3x —4y =17

7y =—2 WD

(6) sy fifRa {

(7)) (x=3)(x+3)—(x—-3)—-6x ZitEE X,



Kﬁ‘h’\“?lﬁ#ﬁ(éﬂi#ﬁ b 3%F BHrOIL—=0 (9)

Training 25
(1)9-6x2 %FtHw L, (2) (-9 =+ (-9 +2 witmek,
(3) 2a-18a?b? + (~3ab?) #aEE X, (4) 222 %55 X,

(5) (2v5-1)" = (6—-4V5) %t X,
(6) a?—(b+1)? %HERE WL X,

(7) HERX x+24=xQx—-1) =%MRET,

Training 26
(1) 5+4+2 EtEe X, (2) 2-(=3)-1 %dtse k.
(3) 12ab?+—abxia EilH X, (4) (VB0 —V45) xv20 #FEHE X,

(5) AR @x+1)2-@Bx—-1)(x—-1) =48 %R,
(6) xiITOWTOZXGERX 3x?+ax—4a=0 (alZEE) oD 1 232 TH5
LE, aDfEE KD K,

(7) a=175, b=27T D¢ %, (a+b)*—4(a+b)+4 ODfizRD X,

Training 27

(1) ~8+10+5 ZalH X, (2) 2-(=3) #ithe L,

(3) 3a%b +ax(=2b)? %iHHEE X,
(4) x=2v/3+1 Dt x x2-2x+1 DOfEZRD X,
(5) AR x(x+2)=5(x+2) #fiEl),

ax+y=7

(6) sppest {7V

DD (x,y)=(4,b) TH3EE, a,bDfizkd X,

(7) R x+3)2=3(x+4) =%M@ET,



W rh~pesmasr P3IEFE BH2OrL—=>7 (10)
Training 28

(1) 6x7—(=3) #Zathiek, (2) 2+(2-3) z@tEe L,
(3) (24a?b —8ab) ~ 6ab —4a #*EtHEE X,

(4) VZ(VB0—V3) - V3(VEB—Z) %atEe k.

(5) HERX x2+2x+1=4 =%,

ot g 3x+y—-2=0 -
(o) stsrpmast {, Y70 R
(7) 8x2—2 %ML X,
Training 29
- 1 2\?2 =
(1) 15— (=6) %FH¥ X, (2) 2= (-3 +2 %iEse L,

(3) HHIX (x=3):8=3:2 #ii7zTxDfE%EKD LT,
(4) x=38D¢ % (x—-1Dx+3)-(x-3)(x-5 ofizko X,

(5) VB-28 #ithie k. (6) =22 st k,

(7) HERX 2c+2)2=4x+8 %7,

Training 30

(1) —~6+3+7 %FtHwL, (2) 2-2-(-2) #ithel,

5 18
(3) —1.6xy x (=3.5x) = 0.2y ZalHE¥ X,

(4) (6a?b —18ab + 12ab?) +3ab + 2(3 — 2b) % &IHE X,

(5) V64 +V12 x27 #%atHEE X,

(6) AKX +)(x—-4)+15x=0 %fRT,

3x—4y =10

(1) munRt {5 50

&R,



